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Answer Question No.1 which is compulsory a y five from the rest.

The figures In the right hand margin Il‘ldl te marka ";/
Answer the following questions: N o &
Why |8 singlemade fiber less costly than multimode fiber? e A=
A pholodiode has a capacilance of 10 pF.Caleulate the maximum load redistancs which allows 10
MHZ post detection bandwidth,
Why do you noad o clean fiber optic conpoctomn’y
Write the expression for angular misalignment and explain the term?
Draw the aquivalant circult for digital optical fiber receiver including the varous nolse sources,
Define fibar splicing.
Compara p-n Photodioda with p-i-n Photodioda.
The Freanal reflection at a butt joint with an air gap in a multimode step index fibar (s 0.49 dB. Find
the refractive index of the core. ]
Dafing Mardionnl ray and akaw ray,
What is Population invarsion and Optical pumping?
How are tha following slemants constructed? Expliain thair role In WOM networks.
() Multilayer dieloctac thin-filin e,
(I} Mach-Zehndar interferomalers,
With the haip of a block disgram explain the operational principlas of WOM,
Explain the machanism of intarmodal dispersion in a multimode step Index filtter,
A pin photo diode on pverage generales one electron hole pair per incident photons at o
wavalangth of 0.8 um, Assuming il the slectrons are collacted
eRlcuinte
{1} the quantum afficlancy of the device,
(i} its maximum possible band gap anamy.
(i) the mean outpul phols cumant whan tho received] oplical powar |8 10 W,
Ezplain with the necazalty diagram the differant typas of flbar structures,
An InGaAs pin photodiode has the following parametors at a wavolength of 1600 nm: Ip = 6 nd,
n=0.9, A, = 2k and tha surfnce leakage curment is negliglble. The incident optical power is 300 nV/
ared the recolvar bandwidth is 20 MHz. Find the varlous nolse terms of the recalvar,
Derve the axpression for diferent nolse sources in an aplical raceiver.
What are tha different types of optical fiber couplers and explain their working?
Explain ths impact ionization and avalanche effect in the avalanche pholodiodes (APD).
A silica aptical filler with a com diametarn JHIT_IE ancigh 1o Ba conslderad by ray thaory IHHWIII b
a core refractive Index of 1.6 and cladding refractive indax of 1,46, Determine:
{i) The critical angle at the come cladding interfaca.
{il) The numnarcal aperture for the fibor
{iil} The accoaptnnce angle in air for the fibar
Expiain the different types of bending lussoy in optical fibars.
Dascribe any TWO from the following
Passive optical couplars
Lasar diode structurds
OTDM
Integrated Optics
Fusion Splicos
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